
PHYSICS

BOOKS - VGS PUBLICATION-BRILLIANT

MOTION

Conceptual Understanding

1. "She moves at a constant speed in a

constant direction." Rephrase the same

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_NQsNU1XrW14p


sentence in fewer words using concepts

related to motion.

Watch Video Solution

2. What do you mean by constant acceleration

?

Watch Video Solution

3. An object moving with 6m per second

execute an acceleration  in next 32m/s2

https://dl.doubtnut.com/l/_NQsNU1XrW14p
https://dl.doubtnut.com/l/_K7hLsueR95x2
https://dl.doubtnut.com/l/_aG5P5jEMJqcR


seconds. How much distance it covered ? (s =

ut + 1/2 )

Watch Video Solution

at2

4. A car stopped after travelling distance 8m

due to applying brakes at the speed of 40 m/s.

Find acceleration and retordation of car in

that period. ( )

Watch Video Solution

v2 − u2 = 2as

https://dl.doubtnut.com/l/_aG5P5jEMJqcR
https://dl.doubtnut.com/l/_xQA0nHOBVLsC


Asking Questions And Making Hypothesis

1. Correct your friend who says "The car

rounded the curve at a constant velocity of 70

km/h".

Watch Video Solution

2. When the velocity is constant, can the

average velocity over any time interval differ

from instantaneous velocity at any instant ? If

so, give an example, If not, explain why.

https://dl.doubtnut.com/l/_wQsWysX0o5NT
https://dl.doubtnut.com/l/_vuDyLGAuYco6


Application To Daily Life Concern To Biodiversity

Watch Video Solution

3. Can the direction of velocity of an object

reverse when its acceleration is constant ? 

If so give an example, if not, explain why.

Watch Video Solution

https://dl.doubtnut.com/l/_vuDyLGAuYco6
https://dl.doubtnut.com/l/_KVvEOpT2p26X


Try These

1. What is the average speed of a Cheetah that

sprints 100m in 4 sec ? What if it sprints 50 m

in 2 sec ?

Watch Video Solution

1. Derive the equation for uniform accelerated

motion for the displacement covered in its nth

https://dl.doubtnut.com/l/_JEn6deMV52S7
https://dl.doubtnut.com/l/_AggRkFuemyI5


second of its motion.

Watch Video Solution

(sn = u + a(n − ))
1

2

2. A point mass starts moving in a straight line

with constant acceleration "a". At a time t after

the beginning of motion, the acceleration

changes sign, without change in magnitude.

Determine the time  from the beginning of

the motion in which the point mass returns to

the initial position. 

t0

((2 + √2)t)

https://dl.doubtnut.com/l/_AggRkFuemyI5
https://dl.doubtnut.com/l/_xpavXYLrwJ7t


Watch Video Solution

3. Consider a train which can accelerate with

an acceleration of  and slow down

with deceleration of . Find the

minimum time for the train to travel between

the stations 2.7 km apart. (180 s)

Watch Video Solution

20cm/s2

100cm/s2

4. A train of length 50 m is moving with a

constant speed of 10m/s. Calculate the time

https://dl.doubtnut.com/l/_xpavXYLrwJ7t
https://dl.doubtnut.com/l/_2dpZHVq7UbRx
https://dl.doubtnut.com/l/_4gUrdHiOrihw


Activities

taken by the train to cross an electric pole and

a bridge of length 250 m. (5s, 30s).

Watch Video Solution

5. Draw the distance vs time graph when the

speed of the body increases uniformly.

Watch Video Solution

https://dl.doubtnut.com/l/_4gUrdHiOrihw
https://dl.doubtnut.com/l/_j0IYDppwn455


Think Discuss

1. Describe uniform motion.

Watch Video Solution

2. Explain with an example where "speed

remains constant, but its velocity changes".

Watch Video Solution

https://dl.doubtnut.com/l/_ZNVcUGcHIHGt
https://dl.doubtnut.com/l/_zcahChQDmZIH


1. What is the displacement of the body if it

returns to same point from where it started ? 

Given on example from daily life.

Watch Video Solution

2. When do the distance and magnitude of

displacement become equal ?

Watch Video Solution

https://dl.doubtnut.com/l/_nJSfYjDrYT4P
https://dl.doubtnut.com/l/_THkDPMwmSck3


3. What is the average speed of the car if

covers 200km in 5h ?

Watch Video Solution

4. When does the average velocity become

zero ?

Watch Video Solution

https://dl.doubtnut.com/l/_1GUYEjjh3Xg5
https://dl.doubtnut.com/l/_ne6O5kXq8Cwi


5. A man used his car. The initial and final

odometer readings are 4849 and 5549

respectively. The journey time is 25h. What is

his average spped during the journey ?

Watch Video Solution

6. Very often you must have seen traffic police

catching motorists and scooter drivers who

drive fast and fine them. Does fine for

https://dl.doubtnut.com/l/_dKYD5KOk6wng
https://dl.doubtnut.com/l/_OstF4qrP05je


speeding depend on average speed or

instantaneous speed ? Explain.

Watch Video Solution

7. One airplane travels due north at 300km/h

and another airplane travels due south at 300

km/h. Are their speeds the same ? Are their

velocities the same ? Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_OstF4qrP05je
https://dl.doubtnut.com/l/_jf1u6SZ9AH9r


8. The speedometer of the car indicates a

constant reading. Is the car in uniform motion

? Explain.

Watch Video Solution

9. What is the acceleration of the race car that

moves at constant velocity of 300 km/h ?

Watch Video Solution

https://dl.doubtnut.com/l/_tVgHDVReqGPH
https://dl.doubtnut.com/l/_IiuJ7zAOqsO8


10. What is the deceleration of a vehicle

moving in a straight line that changes its

velocity from 100 km/h to a dead stop in 10 sec

?

Watch Video Solution

11. Correct your friend who says "Acceleration

gives an idea of how fast the position

changes."

Watch Video Solution

https://dl.doubtnut.com/l/_EKiJZ1yNaHWk
https://dl.doubtnut.com/l/_LvNzqa41xE2N


Questions Given In The Lesson

1. Can you find the speed of the car at a

particular instant of time ?

Watch Video Solution

2. What is the shape of the graph ?

Watch Video Solution

https://dl.doubtnut.com/l/_LvNzqa41xE2N
https://dl.doubtnut.com/l/_RFJTSYOcFZIv
https://dl.doubtnut.com/l/_363QU49CQzOg
https://dl.doubtnut.com/l/_qzen2KrX9gm5


Worked Out Examples

3. Explain with an example where "speed

remains constant, but its velocity changes".

Watch Video Solution

4. What is acceleration ? How can we know

that a body is accelerating ?

Watch Video Solution

https://dl.doubtnut.com/l/_qzen2KrX9gm5
https://dl.doubtnut.com/l/_KtDnOvEjeyvO


Previous Summative Assessments Questions

1. What is the speed of the body moving with

uniform acceleration at the midpoint of two

points on a straight line, where the speeds are

u and v respectively ?

Watch Video Solution

1. Frame any one question to understand

Newtion's third law of motion.

https://dl.doubtnut.com/l/_LLE0NL7SFkqG
https://dl.doubtnut.com/l/_jd1KaRnP4pZS


Watch Video Solution

2. A motor cyclist drive from A to B with

uniform speed of 30km/hour and returns back

with a speed of 20 km/hour. Find the average

speed.

Watch Video Solution

3. A train of length 100 m. Is moving with a

constant speed of 10m/s. Calculate the time

taken by the train to cross the electric pole ?

https://dl.doubtnut.com/l/_jd1KaRnP4pZS
https://dl.doubtnut.com/l/_sJvaP42H7OfM
https://dl.doubtnut.com/l/_zfClv3fGvC6V


Watch Video Solution

4. Calculate the average speed of "Ussain Bolt"

who sprints 100m in 9.81 sec. during 2016 Rio

Olympics to win Gold medal.

Watch Video Solution

5. Explain the terms in the formula v = u + at.

Watch Video Solution

https://dl.doubtnut.com/l/_zfClv3fGvC6V
https://dl.doubtnut.com/l/_yBulqqQie26D
https://dl.doubtnut.com/l/_Aim32Wal9NeO


Essential Material For Examination Purpose

1. Write an equation of motion to find the

distance travelled when initial velocity, time,

and acceleration are given.

Watch Video Solution

2. Define acceleration.

Watch Video Solution

https://dl.doubtnut.com/l/_cWBXJuZF1you
https://dl.doubtnut.com/l/_S9q9Se4E6qcJ
https://dl.doubtnut.com/l/_8oxZJzR4AzTx


3. What is the key difference between distance

and displacement ?

Watch Video Solution

4. The distance travelled by a pparticle in time

't' is given by . Find the

average speed of the particle during the time

'0' to '5' sec.

Watch Video Solution

S = (2.5m/s2)t2

https://dl.doubtnut.com/l/_8oxZJzR4AzTx
https://dl.doubtnut.com/l/_S92Fp632fpd4


5. A ball is thrown up with an initial speed of

4m/sec. Find the maximum height reached by

the body.

Watch Video Solution

6. A man used his car. The initial and final

odometer readings are 4849 and 5549

respectively. The journey time is 70h. What is

his average spped during the journey ?

Watch Video Solution

https://dl.doubtnut.com/l/_fL3Hr7eHeAY9
https://dl.doubtnut.com/l/_gToAX18WqX5w


7. An object is moving in a circular path of

radius 7 m. What is the distacne and

displacement of an object after one revolution

?

Watch Video Solution

8. A person moves 3 km towards east and

turned toward north and travelled a distance

of 4 km. Find total distance and total

displacement.

https://dl.doubtnut.com/l/_gToAX18WqX5w
https://dl.doubtnut.com/l/_7yDfCg3JGz4N
https://dl.doubtnut.com/l/_Dd6ZmZ2KiAzK


Watch Video Solution

9. What happens to the direction of velocity

and acceleration when the 

i) speed of an object increases ? 

ii) speed of an object decreases ?

Watch Video Solution

10. Find the acceleration of a bus if its speed

increases from 0 m/s to 600 m/s in 1 minute ?

https://dl.doubtnut.com/l/_Dd6ZmZ2KiAzK
https://dl.doubtnut.com/l/_oErPpOX2Rmcy
https://dl.doubtnut.com/l/_9Q8uZFopsHHs


Watch Video Solution

11. What is the key difference between distance

and displacement ?

Watch Video Solution

12. Explain the terms uniform and non-uniform

motions.

Watch Video Solution

https://dl.doubtnut.com/l/_9Q8uZFopsHHs
https://dl.doubtnut.com/l/_C1srtkBK03XC
https://dl.doubtnut.com/l/_nZVIc2yZqT4v
https://dl.doubtnut.com/l/_mIQ5ZzHFe1ZS


13. Derive equation of uniform accelerated

motion.

Watch Video Solution

14. Derives  


Derive one equation for displacement of a

body which is in the uniform acceleration.

Watch Video Solution

s = ut + at21

2

https://dl.doubtnut.com/l/_mIQ5ZzHFe1ZS
https://dl.doubtnut.com/l/_dzyxSaqAnpAa


Previous Summative Assessments Bits

15. Give an example to each situation in daily

life. 

i) Speed changes when direction remains

constant. 

ii) Direction of motion changes when speed

remains constant. 

iii) Speed and direction simultaneously

change.

Watch Video Solution

https://dl.doubtnut.com/l/_ppfHWjVJ2k5y


1. A car covers half the distance at a speed of

 and the other half at a speed of 

. The average speed of the car is

A. 

B. 

C. 

D. 0

Answer: B

Watch Video Solution

60kmh− 1

40kmh− 1

44.44kmh− 1

50kmh− 1

48kmh− 1

https://dl.doubtnut.com/l/_iCFFsN4jJmpY


2. Mithilesh wanted to find instantaneous

speed of the car in which he was travelling. He

should see which one of the following meters

?

A. Anaemometer

B. Odometer

C. Speedometer

D. Thermometer

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_G2JmsszsA5FA


3. An example for a motion where the speed

and direction of motion both changes

continuously is

A. Ball moving down the inclined plane

B. Throwing stone into the air, making

some angle with the horizontal

C. Ball moving up the inclined plane

D. Whirling stone

https://dl.doubtnut.com/l/_G2JmsszsA5FA
https://dl.doubtnut.com/l/_JCtxnZgBLFHL


Answer: B

Watch Video Solution

4. Velocity :  :: acceleration : ?

A. 

B. 

C. 

D. 

Answer: A

ms− 1

ms− 2

m2s

m− 2s

ms2

https://dl.doubtnut.com/l/_JCtxnZgBLFHL
https://dl.doubtnut.com/l/_SvLl21dDtJAV


Watch Video Solution

5. When the driver pushes the accelerator of

the car, then

A. the time interval to reach the

destination decreases.

B. the time interval to reach the

destination remains the same.

C. the speed and time interval both

increase.

https://dl.doubtnut.com/l/_SvLl21dDtJAV
https://dl.doubtnut.com/l/_UWEpP5LeAHDw


D. the time interval to reach the

destination increases.

Answer: A

Watch Video Solution

6. Which of the following is not a vector ?

A. Speed

B. Acceleration

C. Velocity

https://dl.doubtnut.com/l/_UWEpP5LeAHDw
https://dl.doubtnut.com/l/_jDlYntAVQSgO


D. Displacement

Answer: A

Watch Video Solution

7. The velocity of the car was measured by a

traffic police through his radar gun at that

instant. The gun measured

A. Instantaneous acceleration

B. Instantaneous velocity

https://dl.doubtnut.com/l/_jDlYntAVQSgO
https://dl.doubtnut.com/l/_1y5mfXRghkdd


C. Average acceleration

D. Average velocity

Answer: B

Watch Video Solution

8. Siva completed half revolution of circular

path of radius 'a' units. Displacement of Siva is

A. a' units

B. 2a' units

https://dl.doubtnut.com/l/_1y5mfXRghkdd
https://dl.doubtnut.com/l/_btpwj9cWtLdR


C.  units

D.  units

Answer: B

Watch Video Solution

πa

2πa

9. Acceleration of a person moving with

constant velocity

A. Infinite

B. Positive acceleration

https://dl.doubtnut.com/l/_btpwj9cWtLdR
https://dl.doubtnut.com/l/_ixk1iv9QsseY


C. Negative acceleration

D. Zero

Answer: D

Watch Video Solution

10. Thanish starts at 8 am to Ananthapuram

from Amaravathi and reaches at 6pm. The

distance between Amaravathi and

Ananthapuram is 500 km. Average velocity of

Thanish is

https://dl.doubtnut.com/l/_ixk1iv9QsseY
https://dl.doubtnut.com/l/_Df9RsxiWTaDy


Watch Video Solution

11. Based on the direction find the Odd one.

A. Velocity

B. Displacement

C. Speed

D. Acceleration

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Df9RsxiWTaDy
https://dl.doubtnut.com/l/_wFl1HLn9I06Y


12. ……………. Is speed in Specified direction.

A. Distance

B. Velocity

C. Acceleration

D. Displacement

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_mk1uoZCtWh10


13. Match the following equations of uniform

accelorated motion formulae 

P) a = , X)  


Q) s = , Y)  


R)  = , Z) 

A. P - X, Q - Y, R - Z

B. P - Y, Q - X, R - Z

C. P - Z, Q - X, R - Y

D. P - Y, Q - Z, R - X

Answer: B

ut + at21

2
v − u

t

v2 v2 + 2as

https://dl.doubtnut.com/l/_3osuSul7dsPx


Watch Video Solution

14. Which of the following is Non-Uniform

motion :

A. Motion of a ball on inclined plane

B. Uniform circular motion

C. A stone thrown in air

D. All the above

Answer: D

https://dl.doubtnut.com/l/_3osuSul7dsPx
https://dl.doubtnut.com/l/_TGT7k9UYyaFC


Watch Video Solution

15. If the equation of motion of an object is 

= 2as, the initial velocity is ….

A. Zero

B. infinity

C. 10 m/s

D. We can't say

Answer: A

Watch Video Solution

v2

https://dl.doubtnut.com/l/_TGT7k9UYyaFC
https://dl.doubtnut.com/l/_BfjxV5FDbKv6


16. Assertion (A) : Speedometer of a vehicle

reads instantaneous velocity 

Reason ( R) : The speed at any instant is called

instantaneous velocity

A. Both A and R are correct, R is correct

explanation of A

B. Both A and R are correct, R is not correct

explanation of A

C. A is correct, R is incorrect

https://dl.doubtnut.com/l/_BfjxV5FDbKv6
https://dl.doubtnut.com/l/_VCjtIicey1GZ


Objective Type Questions

D. A is incorrect, R is correct

Answer: A

Watch Video Solution

1. A body released from height 'h' takes time 't'

to reach ground. After time t/2. Its height from

the ground is

https://dl.doubtnut.com/l/_VCjtIicey1GZ
https://dl.doubtnut.com/l/_yHrnYKXXsjyF


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

h

2

h

4

3h
4

h

3

2. Which of the following is correct ?

A. Distance  Displacement≥

https://dl.doubtnut.com/l/_yHrnYKXXsjyF
https://dl.doubtnut.com/l/_Faw2WGCoB3LY


B. 

C. Both A & B

D. None

Answer: C

Watch Video Solution

≥ 1
Distance

Displacement

3. Ratio of the distance travelled in 1 second, 2

seconds, 3 seconds

A. 12 : 22 : 32

https://dl.doubtnut.com/l/_Faw2WGCoB3LY
https://dl.doubtnut.com/l/_fZmu8NCgbgEb


B. 

C. 

D. 

Answer: A

Watch Video Solution

1: 3: 5

1: 2: 3

1: 5: 9

4. Which of the following is correct ?

A. Acceleration due to gravity in vacuum is

the same irrespective of size and mass of

https://dl.doubtnut.com/l/_fZmu8NCgbgEb
https://dl.doubtnut.com/l/_nMhvBYmiEjIO


body.

B. Acceleration in vacuum is absent.

C. Acceleration due to gravity in vacuum

depends on mass.

D. Acceleration due to gravity is zero at

poles.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_nMhvBYmiEjIO


5. If a body is projected horizontally from the

top of a tower the time taken by it to reach

the ground depends upon

A. velocity of projection

B. height of the tower

C. both A & B

D. neither of these two

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_i544LLoIVyX0


6. Both average velocity and average in-

stantaneous velocity are equal when a body is

moving with

A. uniform velocity in same direction

B. uniform velocity in different directions

C. uniform acceleration

D. none

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_9m6miFXVniAv


7. A body projected vertically with a velocity 'u'

from ground. Its velocity

A. at half of maximum height is 

B. at  of maximum height is 

C. at  of maximum height is 

D. at  of maximum height is 

Answer: C

Watch Video Solution

u

2

3th

4
u

√2

1rd

3
√ u

2

3

1th

4
u

√2

3

https://dl.doubtnut.com/l/_Y6LcrUsrC9bc
https://dl.doubtnut.com/l/_yfs3Ocd9CpVD


8. A freely falling body describes a distance x in

first 2 seconds and a distance y in next 2

seconds. Then

A. y = x

B. y = 2x

C. x = 2y

D. y = 3x

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_yfs3Ocd9CpVD
https://dl.doubtnut.com/l/_uMtkqguGkp0j


9. The height from which a body is released is

numerically equal to the velocity acquired

finally. Then that height is

A. g

B. 2g

C. 4g

D. 8g

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_uMtkqguGkp0j


10. A physical quantity with magnitude as well

as direction is called ……… quantity.

A. scalar

B. vector

C. linear

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_xLEADRutXd5s
https://dl.doubtnut.com/l/_TCaLCN0SwngG


11. Speed of a body at any particular instance

is known as ……………

A. velocity

B. average speed

C. instantaneous speed

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_TCaLCN0SwngG


12. The physical quantity with only magnitude

is called ……………

A. scalar

B. vector

C. axial

D. linear

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_K0xyq4wO3Box
https://dl.doubtnut.com/l/_N4TgRwaH5wfX


13. Instantaneous speed can be represented by

…………… of the curve at a given instant of time.

A. distance

B. midpoint

C. slope

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_N4TgRwaH5wfX


14. Average speed = …………..

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Total distance

Time taken

Total time

Time distance

Total displacement

Time time

Total time

Time displacement

https://dl.doubtnut.com/l/_TWFtynhgL0IJ


15. In ………. Motion distance and displacement

are same.

A. curvilinear

B. rotational

C. vibrational

D. rectilinear

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_lx9pVcD3cTdc
https://dl.doubtnut.com/l/_0NmL5LTJoFSb


16. ……… is the rate of change of velocity.

A. Displacement

B. Velocity

C. Acceleration

D. Momentum

Answer: C

Watch Video Solution

17. Negative acceleration is called …………

https://dl.doubtnut.com/l/_0NmL5LTJoFSb
https://dl.doubtnut.com/l/_DdhcjGYK1afm


A. deceleration

B. retardation

C. both A & B

D. neither A nor B

Answer: C

Watch Video Solution

18. If the speed of an object decreases, the

direction of velocity and acceleration are in

……….. Direction.

https://dl.doubtnut.com/l/_DdhcjGYK1afm
https://dl.doubtnut.com/l/_jKtamHVIkcjv


A. same

B. opposite

C. unable to say

D. none of these

Answer: A

Watch Video Solution

19. Acceleration of a person moving with

constant velocity

https://dl.doubtnut.com/l/_jKtamHVIkcjv
https://dl.doubtnut.com/l/_2h88ZUsvlWdY


A. positive

B. negative

C. zero

D. none of these

Answer: C

Watch Video Solution

20. At maximum height the final velocity is

…………..

https://dl.doubtnut.com/l/_2h88ZUsvlWdY
https://dl.doubtnut.com/l/_Q0gnO4FhFhlT


A. u

B. 

C. 

D. zero

Answer: D

Watch Video Solution

u2

2g

2u

g

21. A body is projected horizontally with a

velocity  m/s from a height 10 m, the

velocity on reaching the ground ………. m/s.

√29

https://dl.doubtnut.com/l/_Q0gnO4FhFhlT
https://dl.doubtnut.com/l/_Vj0PcXDhmJn2


A. 

B. 10

C. 15

D. 20

Answer: C

Watch Video Solution

√29

22. ……………. Is speed in Specified direction.

A. displacement

https://dl.doubtnut.com/l/_Vj0PcXDhmJn2
https://dl.doubtnut.com/l/_jT7H0hsVpX2G


B. velocity

C. acceleration

D. momentum

Answer: B

Watch Video Solution

23. If an ant completes one circular motion,

then the displacement is

A. 2πr

https://dl.doubtnut.com/l/_jT7H0hsVpX2G
https://dl.doubtnut.com/l/_GSM3HKojjymo


B. 

C. 

D. zero

Answer: D

Watch Video Solution

πr

4πr

24. When a train comes to rest, then the

acceleration is …………

A. positive

https://dl.doubtnut.com/l/_GSM3HKojjymo
https://dl.doubtnut.com/l/_hf0P5V1yaVhq


B. negative

C. maximum

D. none of these

Answer: B

Watch Video Solution

25. Direction of acceleration is along the

direction of …………….

A. velocity

https://dl.doubtnut.com/l/_hf0P5V1yaVhq
https://dl.doubtnut.com/l/_OCKItayUx1jt


B. constant velocity

C. increase in velocity

D. all the above

Answer: A

Watch Video Solution

26. The motion is said to be …………….. If

acceleration is constant.

A. uniform motion

https://dl.doubtnut.com/l/_OCKItayUx1jt
https://dl.doubtnut.com/l/_Pd3i7AwgMzkk


B. uniform accelerated motion

C. non-uniform accelerated motion

D. none of these

Answer: B

Watch Video Solution

27. The S.I unit of acceleration is …….

A. m

B. m/s

https://dl.doubtnut.com/l/_Pd3i7AwgMzkk
https://dl.doubtnut.com/l/_YdB3k0lzJWar


C. 

D. 

Answer: C

Watch Video Solution

m/s2

m2 /s

28. If the direction of velocity changes

continuously and speed remains constant,

then the body will be in ………….. Motion.

A. circular

https://dl.doubtnut.com/l/_YdB3k0lzJWar
https://dl.doubtnut.com/l/_1fL4xK8ookrd


B. rotatory

C. non-uniform circular

D. uniform circular

Answer: D

Watch Video Solution

29. The unit of distance is

A. m

B. s

https://dl.doubtnut.com/l/_1fL4xK8ookrd
https://dl.doubtnut.com/l/_BJSIapsd1QcT


C. kg

D. m/s

Answer: A

Watch Video Solution

30. The unit of speed is

A. m

B. m/s

C. m/s2

https://dl.doubtnut.com/l/_BJSIapsd1QcT
https://dl.doubtnut.com/l/_54I3JaSZWckO


D. 

Answer: B

Watch Video Solution

m2 /s

31. The unit of force is ………….

A. kg

B. Newton

C. Kelvin

D. kg m/s

https://dl.doubtnut.com/l/_54I3JaSZWckO
https://dl.doubtnut.com/l/_1EyMaADCZ9wV


Answer: B

Watch Video Solution

32. Average velocity = ………………

A. 

B. 

C. Total distance  Time

D. 

Answer: B

Total distance

Total time

Total displacement

Total time

×

Total time

Total displacement

https://dl.doubtnut.com/l/_1EyMaADCZ9wV
https://dl.doubtnut.com/l/_gHDZUTNmNxbO


Watch Video Solution

33. First law of motion is

A. v = u + at

B. 

C. 

D. 

Answer: A

Watch Video Solution

s = ut + at21

2

v2 − u2 = 2as

Sth
n = u + a(n − A)

1

2

https://dl.doubtnut.com/l/_gHDZUTNmNxbO
https://dl.doubtnut.com/l/_ZqN3Ex9RRJKE


34. Second law of motion is ……….

A. v = u + at

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

s = ut + at21

2

v2 − u2 = 2as

https://dl.doubtnut.com/l/_ZqN3Ex9RRJKE
https://dl.doubtnut.com/l/_3If9AHKh2yfl


35. Third law of motion is

A. v = u + at

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

s = ut + at21

2

v2 − u2 = 2as

https://dl.doubtnut.com/l/_fJZCh2hjVBlo


36. Acceleration = ………….

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a =
v − u

t

a =
d

t

a =
s

t

a = v × t

https://dl.doubtnut.com/l/_P0NkN6YEtczj


37. Assertion (A) : Displacement is a vector. 

Reason ( R) : Displacement has both

magnitude and direction.

A. Both A and R are true and R supports A.

B. Both A and R are true but R does not

support A.

C. A is true but R is false.

D. A is false but R is true.

Answer: A

W h Vid S l i

https://dl.doubtnut.com/l/_5vHn1gKpbpHn


Watch Video Solution

38. If an ant completes one circular motion,

then the displacement is

A. 

B. 

C. zero

D. 2r

Answer: C

Watch Video Solution

2πr

πr

https://dl.doubtnut.com/l/_5vHn1gKpbpHn
https://dl.doubtnut.com/l/_OdMbX3AXxzuL


39. Distance : meter : : displacement :

A. 

B. m/s

C. 1/m

D. m

Answer: D

Watch Video Solution

m2

https://dl.doubtnut.com/l/_OdMbX3AXxzuL
https://dl.doubtnut.com/l/_L7YzzpYMFWt3
https://dl.doubtnut.com/l/_zVEmjQz6hIFO


40. If the distance between to points is 'x'

meters, then the displacement is

A.  meters

B.  meters

C.  meters

D. A or C

Answer: D

Watch Video Solution

= x

> x

< x

https://dl.doubtnut.com/l/_zVEmjQz6hIFO


41. Average speed :  : : ……………. :

`("displacement")/("time taken")

A. average velocity

B. average acceleration

C. average force

D. none of the given

Answer: A

Watch Video Solution

total distance

time taken

https://dl.doubtnut.com/l/_uZmqyJ8JdtnF
https://dl.doubtnut.com/l/_Jmb4MskUOlMg


42. Average velocity becomes zero, if a particle

move in this way of points.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

A → B

A → B → C

A → B → C → B

A → B → C → A

https://dl.doubtnut.com/l/_Jmb4MskUOlMg


43. The speedometer of the car indicates a

constant reading. Is the car in uniform motion

? Explain.

A. uniform motion

B. non - uniform motion

C. circular motion

D. no motion

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Cyg9CO4eyIY4


44. The shape of a S - t graph for a non -

uniform motion always be

A. straight line

B. curved line

C. A or B

D. none

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_kLvWX3ejaEFU
https://dl.doubtnut.com/l/_uvsaw5mO2mx1


45. If the revolving of earth stops, its path of

escaping is

A. along the direction of velocity vector

B. along the direction of curved path

C. along the direction of diameter of the

curved path

D. we cannot say

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_uvsaw5mO2mx1
https://dl.doubtnut.com/l/_MfBwcudjO2ML


46. Consider the motion of the tip of the

minute hand of a clock in one hour

A. distance is zero

B. displacement is zero

C. the average speed is zero

D. average velocity is non-zero

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_MfBwcudjO2ML
https://dl.doubtnut.com/l/_UrVKpHen4qFo


47. Two bullets A & B fired simultaneously,

horizontally and with different speeds from

the same plane. Which bullet will hit the

ground first ?

A. A

B. B

C. A and B

D. Depend on their masses

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_UrVKpHen4qFo


48. A body is projected vertically up from

ground with a speed . The average speed

of total motion is

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

√gh

√
gh

2

√gh

2

√2gh

https://dl.doubtnut.com/l/_UrVKpHen4qFo
https://dl.doubtnut.com/l/_RkEeE0xglF36


49. A freely falling body crosses the points A, B

and C with velocities v, 2v, 3v. Then AB : AC =

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1: 2

1: 3

1: 1

3: 8

https://dl.doubtnut.com/l/_RkEeE0xglF36
https://dl.doubtnut.com/l/_oh5jHL6aPIvh


50. Take a ball and release it from the top of a

inclined plane, what is your observation ?

A. Speed of the ball is constant.

B. Speed of the ball increases gradually.

C. Speed of the ball decreases gradually.

D. Speed first increases and then decreases.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_FAivw2tnz0hH
https://dl.doubtnut.com/l/_iOa8tavBffH8


51. Tie a stone to a rope. Whirl the rope and

rotate the stone in a circular path cut the

rope. Your observation is

A. stone moves along the tangent of the

path.

B. stone falls in the centre of the path.

C. stone takes revers direction.

D. none

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_iOa8tavBffH8


52. A vector can be represented as a directed

line segment in which length indicates …………

and arrow indicates ………………..

A. magnitude, direction

B. direction, magnitude

C. magnitude, speed

D. speed, velocity

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_iOa8tavBffH8
https://dl.doubtnut.com/l/_A1zsXy7yMKKh


53. The shape of distance vs time graph for a

body which is in uniform motion is ………………..

A. curve

B. straight line

C. zig zag

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_A1zsXy7yMKKh
https://dl.doubtnut.com/l/_0sHfqsVgBlE6


54.  


 


 


 


Which of the above is not a equation of

uniform acceleration ?

A. 1

B. 3

C. 4

D. 

v = u + at      .... .1

s = ut + at2      .... .2
1

2

v2 = 2as + u2      ......3

v2 + u2 = 2as      .... .4

1, 2, 3

https://dl.doubtnut.com/l/_0sHfqsVgBlE6
https://dl.doubtnut.com/l/_U9Nft319VNC8


Answer: C

Watch Video Solution

55. Slope of the distance vs time graph ……………..

A. Displacement

B. speed

C. velocity

D. acceleration

Answer: B

https://dl.doubtnut.com/l/_U9Nft319VNC8
https://dl.doubtnut.com/l/_S8EPnsH9LIV1


Watch Video Solution

56. If the average speed of a bus is 40 m/s.

What is the time to travel a distance of 12 km ?

A. 5 min

B. 300 min

C. 480 min

D. None

Answer: A

https://dl.doubtnut.com/l/_S8EPnsH9LIV1
https://dl.doubtnut.com/l/_1LJNF7DrxTOO


Watch Video Solution

57. A man used his car. The initial and final

odometer readings are 4849 and 5549

respectively. The journey time is 25h. What is

his average spped during the journey ?

A. 28 m/hr

B. 28 km/hr

C. 2800 m/sec

D. 2.8 km/hr

https://dl.doubtnut.com/l/_1LJNF7DrxTOO
https://dl.doubtnut.com/l/_dyuRVtpry2HZ


Answer: B

Watch Video Solution

58. A particle on a blade of the electrical fan

moves in

A. uniform motion

B. uniform speed

C. circular path

D. above all

https://dl.doubtnut.com/l/_dyuRVtpry2HZ
https://dl.doubtnut.com/l/_rKHluu41ox5S


Answer: D

Watch Video Solution

59. Motion of a rocket : (a) : : Motion of a

satellite around the earth : (b)

A. (a) = uniform, (b) = non - uniform

B. (a) = non - uniform, (b) = uniform

C. (a) = uniform, (b) = uniform

D. (a) = non - uniform, (b) = non - uniform

https://dl.doubtnut.com/l/_rKHluu41ox5S
https://dl.doubtnut.com/l/_9ViGIk3yy2AS


Answer: B

Watch Video Solution

60. If we are travelling in a bus, when the

driver presses the acceleration, our bodies

press against the seat due to

A. acceleration

B. uniform motion

C. deceleration

D. none

https://dl.doubtnut.com/l/_9ViGIk3yy2AS
https://dl.doubtnut.com/l/_zjK22rZ7YeQU


Answer: A

Watch Video Solution

61. Deceleration observes in

A. moving train comes to rest

B. starting of the train

C. both A and B

D. motion of earth

Answer: A

https://dl.doubtnut.com/l/_zjK22rZ7YeQU
https://dl.doubtnut.com/l/_u6zxRi2jM5wr


Watch Video Solution

62. A ball is thrown upwards with 10 m/s

velocity after 1 sec, what is its height?

A. 10 m

B. 5 m

C. 15 m

D. 0 m

Answer: B

https://dl.doubtnut.com/l/_u6zxRi2jM5wr
https://dl.doubtnut.com/l/_lfWuPWclzcHU


Watch Video Solution

63. The speedometer of a bike or car gives

A. instantaneous speed

B. uniform speed

C. uniform velocity

D. acceleration

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_lfWuPWclzcHU
https://dl.doubtnut.com/l/_m1gOdJSDzSJ8
https://dl.doubtnut.com/l/_f25JQlFyFe4o


64. With respect to passengers in a moving

bus the state of motion of tree is ………

A. rest

B. motion in same direction

C. motion in opposite direction

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_f25JQlFyFe4o
https://dl.doubtnut.com/l/_Lhc7LRI0lx2W


65. When we apply brakes to car then travels

with ………………..

A. acceleration

B. constant velocity

C. retardation

D. none of these

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Lhc7LRI0lx2W

